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Complete the sentences. Use the word banks to help you. 

The ___________________ is heavier than the ___________________.

The ___________________ is lighter than the ___________________.

The ___________________ is heavier than the ___________________.

The ___________________ is lighter than the ___________________.

The ___________________ is heavier than the ___________________.

The ___________________ is lighter than the ___________________.

The ___________________ is equal to the ___________________.

apple

cherry

pear

peach

apple

cherry

pear

a

b

c
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The ___________________ is heavier than the ___________________.

The ___________________ is lighter than the ___________________.

The ___________________ is heavier than the ___________________.

The ___________________ is lighter than the ___________________.

The ___________________ is equal to the ___________________.

apple

cherry

pear

a

b

pear

peach

apple

Is Kat correct? __________________

How do you know?

_________________________________

_________________________________

_________________________________

The balloon will weigh 
more because it is bigger.

c
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Complete the sentences. Use the word banks to help you. 

The ___________________ is heavier than the ___________________.

The ___________________ is lighter than the ___________________.
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The ___________________ is heavier than the ___________________.

The ___________________ is lighter than the ___________________.

The ___________________ is equal to the ___________________.

apple

cherry

pear

peach

apple

cherry

pear

a

b

c

apple cherry

cherry apple

pear peach

peach pear

pear cherry

cherry pear

apple pear
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Complete the sentences. Use the word banks to help you. 
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apple

cherry

apple

cherry

pear

a

b

c

pear

peach

apple

pear cherry

cherry pear

apple pear

apple peach

peach apple

pear peach

peach pear

apple cherry
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Complete the sentences. Use the word banks to help you. 

The ___________________ is heavier than the ___________________.

The ___________________ is lighter than the ___________________.

The ___________________ is heavier than the ___________________.

The ___________________ is lighter than the ___________________.

The ___________________ is heavier than the ___________________.

The ___________________ is lighter than the ___________________.

The ___________________ is equal to the ___________________.

apple

cherry

pear

a

b

pear

peach

apple

Is Kat correct? __________________

How do you know?

_________________________________

_________________________________

_________________________________

The balloon will weigh 
more because it is bigger.

c

pear cherry

cherry pear

apple pear

apple peach

peach apple

pear peach

peach pear

No

Even though the balloon is larger

the apple is heavier.
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